)=

=0 "™ -0, 6(n)—0,h(n)—0asn — .

f“(0)

0.8

06 |

04

0.2

0

02

04

0.6

0.8

-1

Jw

LePr

ODEs
fm_frz S ff”_A(gf”'*'f’) =0’

6" + Pr[Nt0” + NbO'h' + f0'] — %ne' =

LePrA

Nt
h' + —0" + LePrfh’ — hW =0.
NG rfh n

Boundary conditions

W©O),fP = —1+ af"?,600) =1+ b6'®, Nbh'(0) + Nto'©®

Engineering coefficients

N gy, 25 = o,

JRey JRey

How to obtain this type of solution

CiJ/Rex = f"(0),

I Ac—

e Ac= 245024/:
\ Ac=-7.2089 == o O

-
el e

-
- -
e, ee_—--

Pr=1, Le=0.2, f,=2, Nt=0.1,a=1.5,b=1.3
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